Name Period

#1 — 6: Simplify the following radicals.
1. J-9 2. V=50 3. 2/3
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#8 — 13: Simplify the following complex expressions.
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#14 - 17:  Verify that each of the following values are solutions to the given equation. Show all of your

work.
. 2243215 x=3i,x=-3 15. (;2—5)2—1=-17; x=5+4,x=5-4i
—1?%) +3 = ((st40)-5)"= 1 =17
‘j(?fj (4
“Ha)l :
9% = 5 > oy
S (Ca

,g(-uf t3 =
(1) (G0-5) =1 =717
180 th_‘)? -/

e
(3 +% ~ o /6% o
—f =11
5.2 I CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-29

APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.
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#14 - 17 (continued): Verify that each of the following values are solutions to the given equation. Show all
of your work.

16. x2+11=7; x=2ix=-2i 17. (x+2)% =25, x=-2+5i, x=-2-5i
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#18 —21: Solve each equation for real or complex solutions. Verify your solutions.
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v'Verify your solution(s): v’ Verify your solution(s):
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5.2 I CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-30
APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.
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#18 — 21 (continued): Solve each equation for real or complex solutions. Verify your solutions.

20. 3x2-27=0 21. 5(x+1)>-3=-48
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v'Verify your solution(s): v’ Verify your solution(s): N :
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22. The height, &, of a water balloon (in feet) at time # (in seconds) is given by the equation

%?) =-16(r-0.45 )_ ot 32 If a student throws the balloon and it lands on the ground, how long is the
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v/ Verify your solution(s): v’ Verify your solution(s):
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5.2 I CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-31

APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.
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#23 — 26 (continued): Find the real and/or complex roots of each function. Verify your solutions!

2. f(x)=-2(x—2)"-18 26. f(x)=4x>+24
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27. The area of a square can be found using the formula A=s?, where “A” is the area and “s” is the length of
one side. If the area of a square is 50 square inches, what is the length of one side? Round your answer to
‘the nearest thousandth and verify your solution(s).
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28. The function f (x)= x2 +4 has no x-intercepts, as shown in the
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graph to the nght. Use algebra to show that no real roots exist for
this function
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5.2 I CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-32
APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.



